Name KEV R A :
‘ M o Chapterla-nd 2a Review

Vocabulary: Thoroughly explain each of the following terms within the context of this chapter:

Block Date

Parent Function Stretch Line of Best Fit Correlation

Transformation Translation Regression Correlation Coefficient

Compression Reflection '

Domain Range

Vertex Form of a Quadratic Function Standard Form of a Quadratic Equation

Axis of Symmetry 7 Maximum or Minimum Value of a Quadratic
NO CALCULATOR ALLOWED

1. Perform the given translation to the graph shown.

a) 5 units left, 4 units down

b) Reflection across the x-axis

¢) Horizontal compression by a factor of +

2. The following graph shows the velocity of a car over a 6 hour period. Sketch a new graph to represent each situation
below and identify the transformation of the original graph that it represents.

-a) The velocity is increased by 15 mi/hr.
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3. Identify the parent function for g (x) from each equatlon below. Then, descrlbe what transformation of the original
function it represents, Graph g (x) and give the domain and range.
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4. Let g (x) be the indicated transformations of f(x)= |x| . ‘Write the equation of g (x).

a) Reflection across the x-axis, vertical stretch by a factor of 9, horizontal translation 5 units left.
ﬁ(x) = ~q[x+5 |

b) A Horizontal stretch by a factor of £, vertical stretch by a factor of 3, right 7 and up 19,
909 = 3 [5Gl +19

5. Let k (x) be the indicated transformations of h(x) = x*. Write the equation for k& (x).

a) Horizontal stretch by a factor of %, vertical compression by a factor of £, and a vertical translation 8 up.
z
2.
kO =5(E9 +8

b) Horizontal compression by a factor of 5, a vertical stretch by a factor of 8, 14 down, and 12‘right.
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6. Consider the function g(x)=—1{x— 5)"’.,. g .

a) What is the line of symmetry for g (x) ?
X=5
¢) Does g (x) open up or down? Explain.

Do ble a=-lh<o

e) Does g (x) have a maximum or a minimum? Explain.

mAK blct cpens Down

) What is the maximum (or minimum) of g (x).

MAL = O
g) What is the domain and range of g (x)?

7. Consider the function h(x)=2x" + [2x411.

"

a) Find the line of symmetry| X = =3
¢) Find the y-intercept '
¥ Wt = 1l ‘
e) What is the domain and range of /1 (x) ?
D R
"'Z: 3‘3 -7

Bt

. b) What is the vertex of g (x).

(58

d} Graph g (x)
(x+5,-$1+8)

N
)

by Find the vertex HCE)= 268" H2(-3) +if
h(3) = 2(Q) w120 +0)
(‘3(’7) (-3 = 18 ~F6 + 4
w3 = -7
d) Graph the function including at least 3 points.
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For questions 8 — 10, identify the parent function equation and the transformation(s).

8. g(x)=(x+3) 9, ;;(x):

K1
Povsent : Y=X
LeFr 3

Chrent : Lf"-‘J?
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10. k{x)=x"3
Pent Y=KL
vp 3




For questions 11 and 12, identify the parent function that best approximates the data set.

1 [2 12 [x [ 1
05 | 4 - |y l16 4o 416

(S
th
-1
o

11. x | 2 |
-y -4 | 0.5

0
0

oestimate when cumulative sales reached $10 million. gm,f/(
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14. Consider the function g (x) =—0.28x* +84x+5.

a) Does this function have a maximum or a minimum? Explain.
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b) Find the maximum {or minimum) of the function.

E;‘ o Yo b/, = Y 5D 3050) = ~2609" “t'&‘t.(lSO) +§ = 305
l{ e za 2,(":1.8) _
Mux = c30s

¢) What is the domain and range of this function?
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15. If the points in a scatterplot have posiﬁvé correlation, then the r-value is _ BESITIWE

16. If the points in a scatterplot have _ieg.ative correlation, then the r-value is M EGATE

—
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17. If the equation of the line of best fitis y 27013 0.12x , which of the following could be the #-value?

A) 1.08 B) 0.76 wé C) ~0.89 D) -1.35
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18. The table shows the price of a technology stock over 5 days.

XK=l Day 1 2 3 4 5
y= Lo Price () 830 | 8.60 | 8.55 8.90 { 9.30
a) Make a scatterplot of the data. %
Al
b) Find the line of best {it for the data. f. !
L\L% Ll jL"' - - f.O ‘
Y = 235 +8.04 b2
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¢) Find the correlation coefficient. - fr 1 %
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d) What does the il(')perof the line you found in part b represent in the context of this problem?
(9 - . &
< - APnce Pﬂ-‘(f— is deﬁ ,)P 923/
/ A D«f I 2
e) Using your equation from part &, predict the price of the technology stock i@ = [y Dcurg ZX
ow accurate do you think your prediction is?

Y = . 23() + 8.0¢
= N1k

f) Using your equation from part b, predict the day the price will hit $25 « y
ow accurate do you think your prediction is?

X = 23x 8.0y _
0% =,23x% x 73737 Days /
=13, 739/306¢3 = )¢ o

[Optional] Need More Practice? ... Try the following from your textbook ...
=
Page 23 #1 -9
Page 41 #6 only
Page 43 #4 - 8
Page 44 #9 - 11
Page 45 #17
Page 109 #1 -9 b




